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¢el: ofdzel ¥ FH(XS=MASESA) (Sl & &)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
OHZ TH &t 18,931,000 23,193,000 A4,262,000
< 242,533 242,533 0
Al 18,688,467 22,950,467 A 4,262,000
MEHSIE =R Y MESHZIMA 10,109,218 14,395,875 AN4,286,657
< 203,000 203,000 0
Al 9,906,218 14,192,875 A4,286,657
StE2el ¥ HHI(X=ASEEEA) 9,692,430 9,692,430 0
< 203,000 203,000 0
Al 9,489,430 9,489,430 0
otd ,ACHE A2 2l 9,286,430 9,286,430 0
401 AIEHI L 20 9,222,690 9,222,690
01 A€ HI 9,010,000 9,010,000
O Xl==0 2 A 4,700,000 4,700,000 0
O g8 HESd EHI3AM
Z & 200,000,000& 200,000 300,000 A 100,000
O g8 S4Acd FHISA
100,000,000& * 14 100,000 0 100,000
O =0tH eelAstE HUIS A
2 & 69,000,000 69,000 150,000 A 81,000
O =0t AHAAGHE HHISA
Z & 81,000,000 81,000 150,000 A 69,000
O =0t SHAs6tE HHISA
150,000,000& * 14 150,000 0 150,000
O *4H SUAGHE HUISA
2 & 15,000,000 15,000 150,000 A 135,000
O *4H ZAUA6HE HUISA
2 & 85,000,000& 85,000 150,000 A 65,000
O #4499 DtECIAGHE 210 ZHIZA
200,000,000& = 14 200,000 0 200,000
O 28H sflelAstE HUIS A
Z & 108,000,000& 108,000 150,000 A 42,000
O R&d XAI=Ac6tE HUISA
d& 42,000,000 42,000 150,000 A 108,000
O 28H PEA6HE HUISA
150,000,000& * 14 150,000 0 150,000
O &3 UotE ZHISAM
Z & 102,000,000 102,000 150,000 A 48,000
O s4H #FA6HE ZHISA
2 & 98,000,000& 98,000 150,000 A52,000
O s&H SEA6tE HUISA
100,000,000& * 14 100,000 0 100,000
O tddH ChatAstE HUIS AL
Z & 100,000,000& = 14l 100,000 150,000 50,000
O e 246t HUISA
50,000,000& = 14l 50,000 0 50,000
XAt GBI (Xl =AlE SE3IAH) 136,221 4,422,878 A 4,286,657
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SA BB SA(EH) - NEAMY - B 0 4t o4 oI o HIRE
([ N=R=]] 136,221 4,422,878 AN4,286,657
801 Gildl bl 136,221 4,422,878 A4,286,657
01 LBHoil bl bl 136,221 4,422,878 AN4,286,657
[ ol gl bl 238 136,221,000& 136,221 4,422,878 A 4,286,657
HRES(XAISSESH) 8,624,657 8,600,000 24,657
SBEXNE(X=ASSE5H) 8,624,657 8,600,000 24,657
SBHENE(X=ASEL3IH) 8,624,657 8,600,000 24,657
701 JIEtSI HSHES 24,657 0 24,657
01 JIEtel HE == 24,657 0 24,657

O g=8X9 SE3 823

24,657,000& * 14l 24,657 0 24,657




